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; hello ; hello
Hello :

= a = 3; a:=3
a; 3

+, - 1+ 3; 4
1- 3; -2

*, / 3*412; 1236
1236/3; 412
7/3; 7/3

A, sqrt 2"3; 8
sart(2); 2
"(1/2); V2

evalf 10 evalf(7/3); 2.333333333
7.0/3 2.333333333

I, Pi 2 + 3*1; 2+3 1
@ * DHr2; -4
evalf(Pi); 3.141592654

%, %%

%;

%%%;

3.141592654
-4




(x +y)"2 (x +y)?
k 1= x*y + y"2; k 1= xy + y? assignment k

Maple k == [ 1

[ 1 k
Maple
(assign)

(assignment)

p = k /(x+y); Xy y? k  xy +y?
' X+y Maple k
k = 'kI’ k 1 L
simplify(p); y simplify
p 1= x"2-8*+15; | p :=x*> - 8x + 15 Maple
solve(p=3,x); 2,6 solve
Maple x2 -8 +15=3
X
X
dpdx := diff(p,x); | dpdx = 2x - 8 diff
int(p,x); int
(P-%) Ex3 - 4x* +15x
3

subs(x=4,p); -1 subs
subs(x=t"2,p); tt - 8t2 + 15




f 1= x°2; f:=x N
x> f

fi=x-—>x2; |[f:i=x->x f f(x) = ¥

(3);

f(v); 2

@)

Maple 10 Maple

sqrt(2.0); 1.414213562 J2 10

Digits := 20; | Digits := 20 20

sqrt(2.0); 1.4142135623730950488 J2 20

evalf

evalf(sqrt(2), 15);

1.41421356237310




cos(x)

Maple

cos(x)

sn( x)
X

sn( x)

0.1



